EXFE 1

5% (L% 2 8 REMR)

R 30FE

HEExER

BEFREFEIEAN NADEIDHY

£ X W

=
(=

A

- SREIC

DLEGIREZDHOBENZRALSE DR

£ £

IEf - &t

B

1,221,117

IA] & }E DI

1

FENE FE

Bae
AL 42
N PE

1,221, 117

1,221,117
0

(2) BMEEERE
V7 T
1 W

(3) REZTDHDEE
&

RWEMN &

0

1,221,117

10, 000

10, 000

10, 000

i
A
iy
@

i

RHIE A e
IRIRkAG AT 5 24 4

- @

EEAEAL

167, 927

£ & & i OF®

E_0 &

[B—2] IF Bk Bt

1,043, 190

1,211, 117

AT A B IE DRI PEAR

EESNUS R
PA

1,221,117

it
R U OE

IF ik B
(Bl & &

K M E & Gt

[B—1] + [B—2]




